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1.

(i)  FHIIT 57 B LTI TG [
(ii) 3GFFH-97H 3 @UeI 421 F97 8 : @S- 3K GUE-T |
(iii) GUS-% 4 TGGHF JHR & J97 8, Tdld GUS—§ 7 [9He JHR & Fe7 & |
(iv) I 7@ (5 + 16) = 21 o] # 8, 3Higar &1 2 &2 & 3&ld (3fowaq) gag 7
(5+10)=15 T F 373/
(v) 11 9T GUg & G4l J97] H1 Gg! FH 7 F BT JI1G 13637 T 0T |
(vi) GUS-%: TGRP FBR & F77 (24 37%)
(a) 3TGUEHSE FTE |
(b) B THRIHE 3H7 T & |
(c) 13T Tg 35w @ 3gar Fifr |
(d) TP F97/91T & T3 HFIT 3] BT I601@ 1537 7 8 |
(vii) GUE-T: [ATIHE FHR & I97 (26 37%)
(a) 3HEIEHI6THE/
(b) IHIGEIRHI10 F57 FHE |
(c) 13T 7T [R5 & 319aR HIf |
(d) Yo% Jo7/417 3 GrH3 A& 3Heh] BT Fooid 1541 T & /|

«ug —
(ST TohT b )
USTTR hIeTed T e T 6 o1 § H Tehegl 4 T3 o IR ST 4x1=4
(G) F=faRed @9 i e yavE O g T8 8 ?
(A) TETEEEHS WISH (B) Tl e
(C) IwTEA (D) ThRIcHS foam

(i) 9 (Spam) 137 -
(A) 3MEYIs o (Unnecessary images)
(B) 31%eTE ®T5ed (Temporary files)
(C) <% " (Junk mails)
(D) =T BIsed (Music files)

(i) 3TREHYT (A) : TTE HY TR F 3THA 2 |
R (R) : TET & o fo I8 THTfeh IeTehi o SN I Tehdl 7 |
(A) (A) 3R (R) THI T&l § 37 (A) 1 T8 wE (R) 7 |
(B) (A) 3R (R) SHI =&t & W (A) 1 98 TR (R) TE1 § |
(C) (A)T@ 2w R) TETE 2 |
D) (A) w&I78 g Rg (R) ¥&1 2 |
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General Instructions :
(i) Please read the instructions carefully.

(it) This question paper consists of 21 questions in two sections : Section-A
& Section-B.

(iit) Section-A has objective type questions whereas Section-B contains
subjective type questions.

(iv) Out of the given (5 + 16) = 21 questions, a candidate has to answer
(5 + 10) = 15 questions in the allotted (maximum) time of 2 hours.

(v) All questions of a particular section must be attempted in the correct
order.

(vi) Section-A : Objective type questions (24 marks)
(a) This section has § questions.
(b) There is no negative marking.
(c) Do as per the instructions given.
(d) Marks allotted are mentioned against each question/part.

(vii) Section-B : Subjective type questions (26 marks)
(a) This section has 16 questions.
(b) A candidate has to do 10 questions.
(c) Do as per the instructions given.
(d) Marks allotted are mentioned against each question/part.

Section - A
(Objective Type Questions)
1. Answer any 4 out of the given 6 questions on employability skills : 4x1=4

(1) Which of the following does not help in stress management ?

(A) Healthy food (B) Sound sleep
(C) Yoga asanas (D) Negative thoughts

(11) Spam refers to
(A) Unnecessary images (B) Temporary files
(C) dJunk mails (D) Music files

(i11) Assertion (A) : Sustainable agriculture is environment friendly.

Reason (R) : It prevents use of chemical fertilizers to protect soil.

(A) Both (A) and (R) are correct and (R) is the correct explanation
of (A).

(B) Both (A) and (R) are correct but (R) is not the correct
explanation of (A).

(C) (A) 1s correct but (R) is not correct.

(D) (A) 1s not correct but (R) is correct.
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(v) F=faRed @ @ % 91 $er 317 IT (Self motivation) T& shidm ?
(A) 39 &I T &I hiegd HET |

(B) 3UAT A1&T I i ohi ASHT §MT |

(C)  STME | 7 T& T |
(D) 39 wIfed o1 9T AT |

(v) U QEL H UHTEHN ®9 § HalTg i o o ST safadai hi €@ ikl 4 & dl

frefafiga 3 9 forg yemr 1 Hare fopan S @ 2

(A) 3T dafaas (Interpersonal) TG
(B) W @ETe / G99 (Public communication)
© KL PCRIERED (Intrapersonal) Hare
(D) <gaqs ga1e (Small group communication)
(vi) TET 9 A9 T (restaurant)ﬂ"@ﬁv‘ﬂ'f% | 918 319 TTehl o ford fofi s
IR HH P T TR ATl et 2 | Toh STl h w3
(A) 3Ys (Impatient)
(B) gsefiet (Creative)
(C) H FTcfazaEl (Under Confident)
(D) 3Tl (Lazy)

2. feutw 6w A @ forgi 5 U1 o ITR EIfIT : 5x1=5
() AR (A) : T SIS T T A TG HR HL TR g A1 TH BT g

FHEN A3 |

RO (R): U YUia: WaTford aifee w9 (Washing Machine) &b &9
Y gfgAH Bl & |

A) (A) 3R (R) SHT w2 & 3 (A) 1 w2 TR (R) R |

(B) (A) 3 (R) T F&l & T (A) 1 Tl THFW (R) T 7 |

(©) (A "W (R) HEI &I 2 |

(D) (A) T TE 2 Hg (R) HE 2 |
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(iv) Which of the following is not a step to build self-motivation ?
(A) Focusing on your goal.
(B) Planning to achieve your goal.
(C) Being indisciplined.
(D) Finding out your strength.

(v)  Which of the following types of communication takes place when the
number of people is small enough to communicate with each other

effectively ?

(A) Interpersonal communication
(B) Public communication

(C) Intrapersonal communication

(D) Small group communication

(vi) Reema has started her own restaurant. She keeps on trying new
ideas to make different dishes for her customers. As an

entrepreneur, Reema is :

(A) Impatient (B) Creative
(C) Under-confident (D) Lazy
2. Answer any 5 out of the given 6 questions : 5x1=5

(1) Assertion (A) : When a machine is able to mimic human traits, it

is said to be artificially intelligent.

Reason (R) : A fully automatic washing machine is artificially

intelligent.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not the correct
explanation of (A).

(C) (A) 1s correct but (R) 1s not correct.
(D) (A) 1s not correct but (R) is correct.
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(i1)

(iii)

iv)

(v)

wifews  (Spotify), ®Eg®H (Facebook), $WM (Instagram), 3THSH
(Amazon), FfFed@ (Netflix) Tfe S THH I TS & YR T H]

T L & | 3o FIes i E TiHfh § ?

(A) e gEfemar (Human intelligence)

(B) wiew gefemar (Platform intelligence)
(C) hM FfomaT (Artificial intelligence)

(D) ST SEIERAT (Application intelligence)

HYT 1 : 4Ws H1918 & “When” si7eh 1 g1 fgduis (Stakeholders) T@d 2 |

HYT 2 : Tgdume (Stakeholders) 3 &0 & St farf3Te wmn 1 @A $Hd & 3R
M (solution) ¥ 3! ATH BN |

(A) HUT 1 FAHIT 2 A A E |
(B) ¥ 1 3 HYA 2 THI TTeAd # |
(C) ¥ 19€ 3 W HY 2TA ¢ |
(D) HUT 2 TE g WG HH 17Tq & |

e ¥t g I8 =Ted © foh AT (Fhm gefmm) wiee 18 318eye saH & andl g,
& 1 TTEvIhaT B 2 |

(A) ST T YA Hd BT Ug 3HehT {0 i
(B) 2T T IUANT HLd §U TE 38 fferd b
(C) (A) 3 (B) gl

(D) (A) 3R (B) rE ¥t T

HEIX fos (Computer Vision) ¥ “gds TEfE” (Image Processing) =1 I1
g ?

A) fafeas 6 wfsfin (Editing) &

(B) 3HST & |1ieh TEAT TS HET

(C) 3tifea ®1ged =T (Playing audio files)

(D) Igd HUTEA ST (Codes Compilation)
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(11) Platforms such as Spotify, Facebook, Instagram, Amazon, Netflix etc.

(iii)

@iv)

(v)

shows recommendation on the basis of what you like. Which is the

technology behind this ?

A)
©)

Human Intelligence (B) Platform Intelligence

Artificial Intelligence (D) Application Intelligence

Statement1l : In “When” block of 4Ws canvas we find the

stakeholders.

Statement 2 : Stakeholders are the people who face a particular

A)
B)
©)
D)

problem and would be benefitted with the solution.
Both Statement 1 and Statement 2 are correct.
Both Statement 1 and Statement 2 are incorrect.
Statement 1 is correct but Statement 2 is incorrect.

Statement 2 is correct but Statement 1 is incorrect.

Whenever we want an Al project to be able to predict an output, we

need to

A)
B)
©)
D)

first test it using the data.
first train it using the data.
Both (A) and (B)

Neither (A) nor (B)

What does the term “image processing” refer to in Computer Vision ?

(A)
B)
©)
D)

Editing videos
Extracting meaningful information from images
Playing audio files

Compiling codes
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(vi) T H T 4 e&dast (Documents) 8 W an, is, the S 31e¢ FR-9R fe@s ¢
® 3 |39 Ise (Term) ! saTsd THeh1 T U8 wreci < fot feram STTan 2 |

(A) M g (Stop Word) (B) qov &g (Rare Word)
(C) 9w wreg (Missing Word) (D) &2 a9 3¢ (Removable Word)

3. feuTu 6 uvai 0 9 forgl 5 T o ST IR - 5x1=5
() = ™ Al twfishsE & @ (logo) 1 I &3y | T8 Y shal S 9 A7
IECHER: R A Gl

'

(ii) a1 ToFH (Data Science) o1 fHfiRad § & ®HH &1 TN (application)
ﬂﬂﬁﬁlﬁﬁ (genetics) 3ﬁ'{31ljci|'§|°hﬁc_cr foRT (genomics) T TelRa &I 7 ?
(A) e W AT s g (DNA) o J9Td ! FHSHT |
(B) canaii 3R St o wee § Uidfshan o1 fogeror s |
(C) HfFaTd Sia AST(+eh T T IaT HiAT |
(D) Fewe W ferelt fwdeR & =X % ud hl @IS T |

(iii) P fIsH (Computer Vision) ¥ fr=feifaa o & fha &1 (task) &1 S
Tehed 3239 (single object) o fod fepam ST 2 2
(A) %] b1 9l ' THT (Object Detection)
(B) affehtor + ¥R (Classification + Localization)
(C) 3erewl faweH (Instance Segmentation)
(D) W-THEHWT (Non-Localization)

(iv) 38 U HEeE fafde 9 (Domain Specific Language) g T fafi= wr &
SIS T JUITedt (Database Management System) T W T 821 o J&EE & fordt
TR TR T B | TEATHS AT (Structured data) TETeH H I8 foR €9 g
AT & | I8 S HI HFgel 9T (language) & ?
(A) TR (SQL) (B) #Hwadt (CSV)
(C) s 3fie (Spreadsheet) (D) eF= (TXT)
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[ ] o o
(vi) A corpus contains 4 documents in which the words such as ‘an, is,
the’ were appearing frequently. Identify the term that is used for

such words.

(A) Stop word (B) Rare word
(C) Missing word (D) Removable word
3. Answer any 5 out of the given 6 questions : 5x1=5

(1) Identify the logo of an application of Al given below. It helps us to

-

navigate to places.

(i1) Which of the following data science application is not associated with

genetics and genomics ?
(A) To understand the impact of DNA on health.
(B) To analyze reactions to drugs and disease.
(C) To find individual biological connection.
(D) To search the house address of a relative on the Internet.
(i11) In Computer Vision, which of the following tasks is used for single
object ?
(A) Object Detection (B) Classification + Localization
(C) Instance Segmentation (D) Non-Localization

(iv) It is a domain-specific language that is designed for managing data
held in different kinds of DBMS (Database Management System). It
is particularly useful in handling structured data. Which computer
language is this ?

(A) SQL (B) CSV
(C) Spreadsheet (D) TXT
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(v) NLP &1 ®H @1 313'5@"1 (application) News item 3T Blog post T 3Teciieh
HAT & 7 AB faferar (redundancy) L Ll 2 3R It fos= (Content)
Y ferfereran =l tfrehem e 2 |
(A) g3 AT (Virtual Assistants)
(B) @ TAIfAfEd (Sentiment Analysis)

(C) < FAhehIM (Text Classification)

(D) 3Tiemies THUEINH (Automatic Summarization)

(vi) T o, goame st fore e <t wefiia shtar 2 7

Prediction : No

(A) TeTd GehTcHeh (False Positive)
(B) TTeTd dhIcHsh (False Negative)
(C) &t ghircHsh (True Positive)
(D) &t FhicHs (True Negative)

4. feuwme 6 yeAi 0 @ fopdi 5 el o I T 5x1=5
() Fr=fafaa ¥ @ ®H CSV #1 ad fawanr (g &9) 7 2
(A) Comma and Space Value
(B) Comma Separated Values
(C) Control Separated Values
(D) Character Separated Values
(i) YT 1 : HISH o HodTohd o o 3ATd-H=T (overfitting) sl TEf T bl ST |
A 2 : THRT BRI I8 3§ foh Al TardT | FYUT TREA0 He I ATG HAT, 3
gTerr T H foreft +ff wrge o forel g TEt o e (label) SATRAT |
(A) H 1 INHEE 2 A T |
(B) YT 1 3R HYH 2 THI T & |
(C) YT 1 TEI g WY HoH 2 TTeAd & |
(D) HUT 2 TE g WG HH 1 TAq & |
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(v)  Which application of NLP helps to provide an overview of a news
item or blog post ? It also avoids redundancy from multiple sources

and maximises the diversity of content obtained.
(A) Virtual Assistants (B) Sentiment Analysis

(C) Text Classification (D) Automatic Summarization

(vi) Which condition of evaluation does the following diagram indicate ?

Prediction : No

(A) False Positive (B) False Negative
(C) True Positive (D) True Negative
4. Answer any 5 out of the given 6 questions : 5x1=5

(1) Which of the following is the correct expansion of CSV ?
(A) Comma and Space Value
(B) Comma Separated Values
(C) Control Separated Values
(D) Character Separated Values

(1) Statement1 : Overfitting is not recommended for evaluation of
a model.
Statement 2 : This is because the model will simply remember

the whole training set, and will therefore always
predict the correct label for any point in the

training set.
(A) Both Statement 1 and Statement 2 are correct.
(B) Both Statement 1 and Statement 2 are incorrect.
(C) Statement 1 is correct but Statement 2 is incorrect.

(D) Statement 2 is correct but Statement 1 is incorrect.
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(iii) #fed % R FoET & geaie & o a8 wh twfi @ it udl qEiEe

iv)

(v)

(Prediction) a7t ¥t AT i o1 § FEl TehRIcHS® HIHE (true positive

cases) % Jfa31d o &9 H 38 TRUTYT fham T g |
FfeTiaa HodTen REftet H § I8 SIF &1 Wit 7 2
(B) T&pie (Recall)

(D) THREEH (Accuracy)

(A) TIfEsH (Precision)
(C) F1%=hR (F1 Score)

T fa=r freror smenfia @@ (learning based approach) & forg &9 &1 Tefid
HEE ?

(A) ¥ (Clustering)
(B) affeRtor (Classification)

(C) wfcim (Regression)

(D) 3 =T (Dimensionally Reduction)

NLP (Natural Language Processing) &I f=faRea & & +m @
application 3-Te® T T fheeflT (Spam filtering) T Tafed & ?

(A) g3 AEEH (Virtual Assistants)

(B) T WA (Sentiment Analysis)

(C) TFT FAEIhehyH (Text Classification)

(D) 3TieMfeeh THUEAIE (Automatic Summarization)
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(i11) It is one of the parameters for evaluating a model’s performance and

is defined as the percentage of true positive cases versus all the cases
where the prediction is true.

Which of the following evaluation parameter is this ?

(A) Precision (B) Recall

(C) F1 score (D) Accuracy

(iv) Which form of learning-based approach does the following diagram
indicate ?
\
A
\
\
\
\
\
\
\
\\ " (-]
o % 00 +%s &
AN
o \\
. °o ° \\\
[+] \
o \\
(A) Clustering
(B) Classification
(C) Regression
(D) Dimensionally Reduction
(v) Which of the following applications of NLP (Natural Language
Processing) is associated with spam filtering in e-mails ?
(A) Virtual Assistants
(B) Sentiment Analysis
(C) Text Classification
(D) Automatic Summarization
104 ~ 13|Page P.T.O.

5
(=]



5.

(vi) 3eTie @& 39T (Internet Enabled Device) %1 3UaNT id 8T e U &

Topeft off IUshTUT 1 =Te] AT S L ThaT & | TR 1 T ST ¢ |

(A) b JERERT (Artificial Intelligence)

(B) 3ewe 3T ford (Internet of Things)

(C) I fasH (Computer Vision)

D) B At (Deep Learning)

few w6 9o § § foredl 5 T3 o I ST 5x1=5

@)

iffa QQ'FW (musical intelligence) T TR & S -

A)

(B)

©)
D)

fafoerm, ATom 31 37 Hehdl, JUFRT (abstraction) 3R deh THEH i ot

! ATIAT T IATeheT BT % |

g 91 fored 1 e &1 wifd o, SF1 % Hed H WIS TEER

(Language Processing) hiSTet b1 HT9H T § |

FHR STTE-TTE o GG G TSR IR HTA <h AT 3T GodToh il 2 |
e, o 3R el gfdedi (Patterns) 1 989 3T dIR A i safad

! AIAT T IoeT@ BT % |

(i) TeaTRT & Tl ¥ fefafgd & @ for & q@EA (Prediction) 3R ek
(Reality) T EHH & ?

(A) Y& HhRIcHe 3T TTeid Hehicdsh (True positive 3T False positive)

(B) T GehIcheh 3TN T&! FehRIcHs (True positive 3 True negative)

(C) TTeTd HehRIcHe 3TR TTeTd ehiIcHsh (False positive 3T False negative)

(D) W& HhNIcHsh 3T ITeAd TehRIcieh (True positive 3T False negative)
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(vi) Raghav can turn on and off any appliance remotely using an internet

enabled device. This is an example of

(A) Artificial Intelligence (Al)
(B) Internet of Things (IoT)
(C) Computer Vision (CV)

(D) Deep Learning (DL)

5. Answer any 5 out of the given 6 questions : 5x1=5
(1) Musical intelligence is a concept that
(A) assesses one’s ability to regulate, measure and understand
numerical symbols, abstraction and logic.
(B) measures the language processing skills both in terms of
understanding or implementation in writing or verbally.
(C) evaluates the ability to process information on the environment
around us.
(D) describes a person’s ability to recognize and create sounds,
rhythms and sound patterns.
(i1) With respect to evaluation, for which of the following does the
prediction and reality match ?
(A) True positive and False positive
(B) True positive and True negative
(C) False positive and False negative
(D) True positive and False negative
104
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(iii) w1 : Tl o< oAt 3 §-mg Uided H 319 T ¢ fomivar & f8 sregex

@iv)

(v)

(v1)

fors =T ITIRT T a7 3HS AT T9 (Image Based Search)

el AT & |

HYT 2 ; 3OS IR T9 (Image Based Search) 3cdtel, SN 3R TAMT
Ih! ST g Wie H Heg i 8 |

(A) HUT 1 FAHIT 2 AT FEI 2 |
(B) ¥ 1 3 HYA 2 THI TTeAd # |
(C) ®oF 1 FE e WG HY 2T ¢ |

(D) HUHF 2T T WG HYT 1A 2 |

g |°Ch|(?1°h o1 TE%hT (Natural Language Processing) % #e¥ § “Studies”
% fo1¥ Stemming @ Fhet Stem o1 Frfaaa d @ s o1 wisg fefua Sear 2 2

(A) Study (B) Stud
(C) Studi (D) Studied

o o

ffeiigd W 9 fpd IRG¥ (Scenario) &1 high False Negative (FN) @
(cost) B Tehdl & ?

(A) 9RRA §HRY 1 T9 (Viral Disease Outbreak)
(B) 3dif®d 3-0 (Spam)
(C) @4 (Mining)

(D) =@ (Image Search)

for YR & = @i (Chat-bot) i =9 SR 8, T8 T (flexible) 3T
SIfaRTTedt & 3T oS ST 98 (databases) WHS & A BT R ?
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(i11) Statement 1 : Various search engines and e-commerce portals

now have a new feature called image-based search

using computer vision.

Statement 2 : Image-based search helps in finding items, people

and places by giving their sounds to the system.
(A) Both Statement 1 and Statement 2 are correct.
(B) Both Statement 1 and Statement 2 are incorrect.
(C) Statement 1 is correct but Statement 2 is incorrect.

(D) Statement 2 is correct but Statement 1 is incorrect.

(iv) In the context of NLP, which of the following words represents a
stem resulting from stemming for “Studies” ?
(A) Study (B) Stud
(C) Studi (D) Studied

(v)  Which of the following scenarios might have a high False Negative
(FN) cost ?
(A) Viral Disease Outbreak
(B) Spam
(C) Mining
(D) Image Search

(vi) Which type of chat-bot has a wide functionality, is flexible and
powerful, and works on bigger databases directly ?
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TUe-T
(fererTTTeh TehR & 9¥)

USITR hied W feu U 5 o7 7 F fohgl 8 T o IR SIGT | Tk 99 h1 I
20-30 31sa1 H ST | 3x2=6

6. A (Stress) ¥ SR & § fued & ¥ wey Sfiag=ai A= % A8 & oy

o

I | Tl ST B dTe 3cd—T i ITd forEl Teh 310 HRUT &l 9dTsd |

7. ¢ forell WTeA T 3119 20 AR <l Teh 219 o et @ a1 U fohgl a1 adishl 1 Seci@

oe

151 frrepT S0 o gesl o 91 Y9Teh i HaTe & forl 3119 39 6 |

8. IS <l UH 1 ¥dTd S ITH] YT HER IAH o fo& H1d B |

9. B ®E g U™ darzy fore ot =xfaa gra 3o fefiteat Suspon (digital devices) &
FLEAT o ToT ST STHT =TT |

10. mﬁw (Sustainable Development) 3 Haferd ffoiaa geenaa w == i :
() i1 (Water) (i) 29 (Fuel)

feu e 6 A | § fohegl 4 e % IR 20-30 ITea] H €T - 4x2=8
11. X fos (Computer Vision) 3R %@[{Ff et e (Natural Language
Processing) & &= 3TcR aTsy |

12. AI i@t =56 (Project Cycle) o ae ¥ fferRad s aftafya Shifsm
() 21 3= (Data Exploration)
(i) = {{%r%‘rri (Data Features)
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Section - B
(Subjective Type Questions)
Answer any 3 out of the given 5 questions on Employability Skills.

Answer each question in 20-30 words. 3x2=6

6. Explain the importance of following a healthy lifestyle in effectively
dealing with stress. Write any one common factor that causes stress

among the children nowadays.

7. If you are a team leader of a team of 20 people in an organization,
mention any two methods that you will use for effective communication

with your team members.

8.  Write any two tasks that entrepreneurs do when they run their business.

9. Enlist any two measures that an individual should follow to take care of
his/her digital devices.

10. Discuss the following problems related to sustainable development :

1 Water
(1) Fuel
Answer any 4 out of the given 6 questions in 20-30 words each. 4x2=8

11. Differentiate between Computer Vision (CV) and Natural Language
Processing (NLP).

12. Define the following with respect to Al project cycle :
(1) Data Exploration

(11) Data Features

104 ~ 19|Page @% P.T.O.
=



13.

14.

15.

16.

17.

18.

19.

321 a9 (Data Science) T Teh IIART “TIEATE AW AHT" (Airline Route
Planning) 2 | U8 &I %1 9133 frg TR-TT HUE1 ST HTSd o ITIN & T Hehdll & |

Hfgehet SR (Medical Imaging) T shrefe fasiH < fohmal S1 J&a TTEl i SaTsd |

e 9T (Human Language) 3T HFII YT (Computer Language) EXIEER
e AR ?

o e it arEmat aret foxfia oeT o Siaw 1 9d1 o o fofd 319 T AL Aied
TR E | 39 ey H Ted HohRicHs (False Positives) 3R TTad Fehiicrsh (False
Negatives) &1 3eoi@ IS |

few w5 weai 6§ forgl 3 U9l o I 50-80 e H ST
39 Al 90F (Al Bias) 3R AT TsE (Al Access) & 9T U & ? 3194 I o THIH
H Tsh-Teh ITE 1T |

Tisetd THITUT (Problem Scoping) % 4Ws & He # THET %¥F 3Feie (Problem
Statement Template) T #1393 7 ? Aft & acdl (Key elements) %1 3ITd §¢
Teh T e deie (Problem Statement Template) d9R HIfST |

= fom w fomam hifvw | a7 gamar & fe anfea wefim «fm wemien (organized
machine learning algorithm) S8 %™ Hdl 2 | YR (Concept) T IdT TSy
3T 3Hh! HRYUTAT (working) THEATS |

3x4=12

Machine Learning Algorithm Machine Learning Algorithm -
Data + Hidden Rules + Hidden Rules Answer
Machine Learning Algorithm Machine Learning Algorithm ,
Data + Hidden Rules 1 Hidden Rules » Answer
Machine Learning Algorithm Machine Learning Algorithm .
Data + Hidden Rules + Hidden Rules Answer
104 ~ 20|Page

5
(=]



13. One of the applications of Data Science is Airline Route Planning. List any
two tasks that airline companies can do using Data Science.

14. Give any two key impacts of Computer Vision on medical imaging.

15. What is the primary difference between Human Language and Computer
Language ?

16. Suppose you are developing an Al model to detect fraudulent financial
transaction risk. Describe False Positives and False Negatives in this
context.

Answer any 3 out of the given 5 questions in 50-80 words each. 3x4=12

17. What do you understand by Al Bias and Al Access ? Give one example of
each to support your answer.

18. What 1s the use of problem statement template with respect to 4Ws of
problem scoping ? Draw a problem statement template depicting all key
elements.

19. Consider the following diagram. It explains how a system of organized
machine learning algorithms perform certain tasks. Identify the concept
and explain its working.

Machine Learning Algorithm Machine Learning Algorithm i

Data + Hidden Rules + Hidden Rules Answer
Machine Learning Algorithm Machine Learning Algorithm ,

Data + Hidden Rules + Hidden Rules Answer
Machine Learning Algorithm Machine Learning Algorithm ,

Data + Hidden Rules + Hidden Rules Answer
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20.

21.

freafafea documents W o= Hiflv

Document 1 : NLP is a domain of Al

Document 2 : NLP stands for Natural Language Processing.

Teh SIRHE dFX <od (document vector table) 9 @ foll Bag of Words (BoW)
o Gt =R =0T < SR T |

.

S (SEfad, Tiex TsRaur 311e) & M @ fordl wshixa Tl (W / o/ S
a7ife) < St A o o1 T AT Higed 9IR fohaT TR 8 | 35 ATSS o1 THI0 ST 630
qHeTr oot 221 U W o R 3 ufomt Confusion Matrix 38 YR & :

Reality
Confusion Matrix

Yes No

Yes 110 60
Prediction

No 50 410

(A) 3 g1 H HA fehad A True Negative & ?
(B) Tuffs (Precision), fepiet (Recall) 3R F1 &R (F1 Score) s T0HT & |
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20. Consider the following documents :

21.

Document 1 : NLP is a domain of Al

Document 2 : NLP stands for Natural Language Processing.

Implement all the four steps of Bag of Words (BoW) model to create a

document vector table.

An Al model has been developed to test specimens of blood/urine/cough
etc. to diagnose ailments (diabetes/liver infection etc.). The model was

tested on a data-set of about 630 tests and the resulting confusion matrix

1s as follows :

Reality
Confusion Matrix
Yes No
Yes 110 60
Prediction
No 50 410

(A) How many total cases are True Negative in the above scenario ?

(B) Calculate Precision, Recall and F1 Score.
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